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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER ~1V+ EXAMINATION — SUMMER - 2017

Subject Code: 3341101 Date: 27-04 - 2017
Subject Name: Microprocessor Assembly Language Programming
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1.  Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6.  English version is authentic.
7. Figures written in bracket in sub questions indicate that sub question’s marks.
Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ellol WML,
1.  Draw Flag Register of 8085.
1. oYUl $AOL YR ERL
2. Draw circuit to generate IOR* from 10/M* & RD* using only NAND gates.
2. 10/m* wal RD* Higl I0R* vlatlaiall ol usl2 5t NAND gate &l €121
*indicates active low signal
3. Write instruction for ((HL)) = (A).
3. ((HL) > (A) U2 SRz s2cl AVl
4.  Define T- State.
¥. T-state ol caltvail 2.
5. Give name & Vector address of Non Maskable Interrupt of 8085.
U, COCU oll MRS ol 53] AslA Acll Sogl2 of ollH ol A2 AJU AVll.
6. Draw RESET circuit of 8085.
S. cocu U ol AAe usle €.
7. Give difference between Op code fetch and Memory Read.
9.  Op code fetch ol Memory Read oll d$lclcdl GAW.
8.  List temporary registers in 8085.
C.  COCU ol U] W2 ol olld .
9.  List two main instructions used for Stack operation.
¢. W5 WUAAet U2 AURAAl A YA Sougs2lol AU,
10.  Find the T state when crystal attached to 8085 is of 3 MHz.
0. AR ¢OCU AU 2 MHz ol glrecd S3A dlat,_UR T state 20l

Q.2 (@) Define addressing mode.(1) List Them.(2)
yst.? () AdAlol Als ofl cauvaul L. (2)detl ottH WUL(R)

OR
(@) Define Interrupt.(1) List 8085 instructions to enable and disable interrupts.(2)

() o2 ofl cautvaul 1UL(1)
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COCU HIR o2 A FAud el SlANA s2cll ofl Sogs2oll AVL(R)
Give significance of carry flag.(1)Write instruction sequence to clear it.(2)

33| $A1e] Hecel AWl (1) 331 $A9L A Yol Ul HIR ol Sogs2lot oll

Alsclot AUL(R)

OR
Write Instruction sequence to exchange HL and DE pair without XCHG.

HL Aol DE &\ AUEA HEA $Rcll HIZ XCHG Rcllad Sozs2let ofl

Alsctor AUl

What is Stack?(2)What is stack pointer?(1)How to initialize stack by
address2040H.(1)

RS 9 B?(R)Rs WY o2 9 82(1) Aal 0%¥0H Ul 23 3l 3la

spAA? (1)

OR
Write short note on Branching instruction.

oAl Fopset (AN gsallel AUl
Draw timing diagram of Memory write cycle.
N3 RASe ASsA ol atefHlol stautauH €L,

OR
Draw Timing diagram of I/O Read cycle.

gotye /ulBleye As WSsA ol ategfH{lol stauaux €l

What is address decoding?(1)What is Linear & Absolute decoding?(2)
AU slslslol g B2(1) clollar Ul AoARje SIslsloL g B?(R)

OR
Differentiate 1/0 mapped 1/0 and Memory Mapped 1/0.

I/0 mapped 1/0 ol Memory Mapped 1/0 ol d$lelct A,
List pins (1) & instructions used for serial communication in 8085.(2)

cocu HL {lRlad shigell3atet 1z Gualloll el ual Sogsalall Avll.

OR
Explain DAA instruction.

DAA tSe252let U1l
Write a program to count no of Ones in given no in accumulator.

W 1 A2R HL ololR Hioll AsSL ofl Aval el ol WUH dull
OR
Write a program to count no of Zeros in given no in accumulator.

A1 A2 HL ololR Mietl Yoll ofl uall dutall ol YUH cull

Give functions of (1) RESETOUT (2) READY
GUol dWl: (1)RESETOUT (R) READY

OR
Draw circuit to de-multiplex Address bus and Data bus.

AJA G A S2l ol oA el wsalel Asle €.

Give difference between INR H, INX H and INR M.
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INRH, INXH 3l INRM clRA dsladd AUl

OR
Explain: (1) RM (2) RRC (3) RAL
AHAl: (1) RM () RRC (3) RAL

Write simple program to generate maximum delay by using 2 register
method.

A e ofl HeEl HEWH Delay oll YIUH AW

OR
What is Looping, Counting & Indexing? Explain.

cloL 516210l wal SodslloL 9 B2 UMl
Draw timing diagram of MOV A,B.
MOV A,B oll atefHlal stautoun €lR\.

Draw circuit to interface 8085 with EPROM 2764 (8 Kbytes).
COCU U EPROM 35 ¥ (¢ Kbytes) oll lstal ol usle 13\
Draw block diagram of 8255.

¢UY oll 6clls SLAUH ERL

What is Tristate?(1)Give difference between Buffer and Latch.(2)
2 2 Y B?(1) SR Aol AU AR oll dslalcd AL(R)
Draw control word of 8255.

CUY oll s2lcd a8 €L
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